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fl%an&hsh&  (acetic acid (CH3COOH))
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272 CH 343 IHI



K = B.L

A
K=
c

CH 343 (H) 273



2 7 4 CH343(H)



&i.i"afm .............................. 7%ti7m%i? ................

A+mu  1. .......................... 7hlaavlf% ................

2. .......................... ahll7ladi-J ................

n+G ................................. ADS .......................

%%fmi7waao9 .....................................................

ijflnq%QS . . . . . . . . . ‘xl

ylllw$?l%l7naaa~ . . . . . . . . . . ‘ml

U.U.KHP = 6%

u.u.NaOH  = f&

ti?alina  NaOH(a?J.d%l.  )

CH 343(H) 275



Raw L %iu  HOAC ( 7aJa1:  )

2 7 6 CH 343 (H)



U.U.KHFJ

u.u.NaOH

. . ‘ml

= Gal

= &.I

KtGJ

HOAc

CH 343 (HI 2 7 7



278 CH 343 (H)


